Kendriya Vidyalaya Sangathan, Varanasi Region
Second - Periodic test (SET -1) 2024-25
Class IX Sub: Social Science (087)

Time allowed: 2.5 hours Maximum Marks: 60
General Instructions:

(i) There are 28 questions in the Question paper. All questions are compulsory.
(if) From questions 1 to 15 are MCQs of 1 mark each.

(iii) Question no. 16 to 19 are Very Short Answer Type Questions, carrying 2 marks each. Answer
to each question should not exceed 40 words.

(iv) Q.20 to Q.22 are Short Answer Type Questions, carrying 3 marks each. Answer to each
question should not exceed 60 words

(v) Questions no from 23 to 24 are case/source based questions with three sub questions and are of
4 marks each. Answer to each question should not exceed 100 words

(vi) Question no. 25 to 27 are long answer type questions, carrying 5 marks each. Answer to each
question should not exceed 120 words.

(vii) Question no. 28 is map based, carrying 5 marks with two parts, 28 (1) from History (2 marks)
and 28 (i) from Geography (3 marks).
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(i) TeT-9 A Fer 28 yeeT ¢ | Hoft et rfovary ¥
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(iii) TRTHEAT16 | 19 T Y oY ST TeT & | TeAT WReT 2 31 T ¢ | TeAeh WA HT
3caT 40 ersel ¥ 371 A¢T 1T TR vl
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28 (ii): T A (3 37) B




1. The book the Social contract was written by following TTHIToe FHASAT ATHS T
fAF=TTRd gan forar I - 1

A. Napoleon =sigiferger B Hitler f@eeR
B. C.Mahatma Gandhi #gcaT ame  D. Rousseau AT
C. 2.Who put forwarded April Theses of the following - f@e=iferad & & foraet ke

IfFT & awT - 1
D. A.Lenin @ B. Louis XVI ¢ @rergar
C. Kerensky ~ah{&hT D. Stalin TeTfoleT
3. Hitler was born in............. BCR o oo Sed Toram ar - 1

A. Austria  3TTTEEIT B. Germany S8t C. France Wi D. England 373

4. Read the statements and see In the question given below, there are two statements
marked as Assertion (A) and Reason hose the correct option: 1

Assertion (A): Hitler was the great person of Germany.

Reason(R): He was born and bought up in Germany.

Options: A. Both A and R are true and R is the correct explanation of A.
B Both A and R are true but R is not the correct explanation of A.

C Aistrue but R is false.

D Ais false but R is true.

- oY AT 71T weeT &, @Y FuT 1 HFFYA (v) 3R FRUE F T F§ AFTd fFar = g
FYal B 9¢ AR WL fAFew T4

HAFYT (T): BeoR FHAT T Th HgT Ifad AT |

RO (IR): BeeR AT A & Sea a1 q2r 937 g3 27|

fa@ed: A. A IR R e G § 3R R, A 1 Ggr sarear g

B A 3R R aIaT @cT § aifhaT R, A T T career 787 g1

C A TT ¢ dfehed R ITaid &

D A 38T § olfdhe R HcT &

5. Which country has the highest geographical area of the folIowing-ﬁmﬁf@H p= b=
frg 22 &1 simfas &9hd Tad SIET § - 1
A.Canada eIlST B.Russia &4 C. USA J TH U  D. China et



6. Which of the following mountain ranges is not related to Himalaya — fe=iifehd & &
FiT qad Aol AT & F@afewd o181 & - 1

A. Karakoram SRTRHA  B. Aravali hills 3R7dell C. Zaskar SITEHRT D. PirpanjalfRa<iTer
7. Arrange the following river from North to south — fSe=AIfehd Ifeal & 3caR & gfayor
FH ¥ Al - 1

i. The Godavari 3&ra?r ii. The Ganga @ iii. The Chambal @& iv.The Narmada sT31ar
8. Which of the following country is democratic country — Te=lifehcd & & ieT AT G2
SehdTfed 2T § - 1
A.China®ief B.Bhutan $eT= C. Nepal aidTel D. Myanmar #FITHR

9. Who was called the Father of South Africa of the following - &T&IoT 37hIehT AT
SedAerdr faTifehd & & ThTPr FaT AT & - 1

A. Wilson Mandela fdedeT #3em B Nelson Mandela siedeT Hell

C. Father Bundela T §¢e D. Mahatma Gandhi HeTeAT aTet

10. Read the information and write a single term — &Il f&T 1T FI=AT &I TS TAT 3HHT

3cc Tah UqsE H SIfoiT | 1

Look at the Picture and Identify the member of the constituent assembly — /& & ¢& ar
Tl THT & TSI I TgdleT Y - 1

A. Indira Gandhi 3fexT aMEfT B. Sarojini Naidu RISt #1ag

C. G.Durgabai S galeT$  D. Vijay Lakshmi fasrar e

12. What is the most important economic activities of the village of the following— 1

g & ¥ At A RAefed & @ q98 AgcaqoT ham § -




A. Farming {¥B. Manufacturing 3¢319T C. Service aT &5 D. All of Above 3TRIerc
Y

13. Which of the following is a non- economic activities — fFeIfhcd & & &ieT IR
3nfde foham g 1

A. A teacher teaching in a school ~ TIGITeI H UGl dTell Ush fRI&TH

B. A Doctor caring the patient TeFeX &aRT M HI S@eAT

C. A mother cooking for Family Al gaRT IRAR & foiT #Hisfel SeATal

D. A Nurse working in a hospital s &T 3F9dTel # HIH HLAT|

14. The working population includes people from ...... years. HrfTeT FTAEEAT
fenfra 3mg @ & ma § -

A.15-49 years B15-59years C.15-69 years D 15— 79 years

15. Number of the babies born every 1000 people in a year is called —
A. Birth rate S=He B. Death rate Fcgex C.Growth rategfig X D. Above all 3T

T

16. Name the state situated near the Arabian Sea?
3T AR o dAoiclsd TUT TSIl & ATH gd1d?

17. Write short notes about Deccan traps ?&ahel & ISR U Ueh Hieted feouufiford 22
18. Preamble is mirror of constitution. How? SEdTaaT ATl ol &9uT &1 T 22
19. What is fixed Capital? Give one example.FEIT Gail &7 § ? Teh 3GIEUT &ITITI3

20. Democratic government is not a good government, How? 3
AhdiTAh TIPR Th T TIPR A6 gl hd

21. Why China cannot be called a Democratic Government ? 3

AT A §H T oliohdlicdh TIHR FAT T8l g Tohd o7

22. Nelson Mandela is the father of South Africa. How? 3
Aodel HS &l Sf&UT 3ART T STeleh gl SITaT gl FaT ?

CASE BASED QUESTIONS
23. Read the passage given below and answer the following questions:
At the beginning of the twentieth century, the vast majority of Russia’s people were
agriculturists. About 85 per cent of the Russian empire’s population earned their living from
agriculture. This proportion was higher than in most European countries. For instance, in
France and Germany the proportion was between 40 per cent and 50 per cent.In the




empire, cultivators produced for the market as well as for their own needs and Russia was a
major exporter of grain. Industry was found in pockets. Prominent industrial areas were St
Petersburg and Moscow. Craftsmen undertook much of the production, but large factories
existed alongside craft workshops. Many factories were set up in the 1890s, when Russia’s
railway network was extended, and foreign investment in industry increased. Coal
production doubled and iron and steel output quadrupled. By the 1900s, in some areas
factory workers and craftsmen were almost equal in number. Most industry was the private
property of industrialists. Government supervised large factories to ensure minimum wages
and limited hours of work. But factory inspectors could not prevent rules being broken. In
craft units and small workshops, the working day was sometimes 15 hours, compared with
10 or 12 hours in factories. Accommodation varied from rooms to dormitories. Workers
were a divided social group.

i How many people of Russia depend upon agriculture? 1

ii.  Compare the depend upon agriculture from other countries? 1

iii.  Write about the factories in Russia?

A Ru 71w e # we ik fawafaf@a weat & seav &

ST |EY T ARIMNA H, &H I RN SToAcdl hoeh o] T WA I 77T 85
fierd SIS i F I Slide AT I AN| F§ 3fegard ifehier UG =it &r
ol & 3feeh AT| 3STEROT & AT, i IR AT H Ig 3T 40 Gl & 50 gferd
& oI AT AT H fRa IR & Arg-ard A9 J&dl & v 8 Icureed X &
3R &F IS 1 Teh ST (@i A7) 3T St & 9 71247 95 e &9 de
dicdadt 3R Aredr I RIeTdRT o R 3cuea R, dfehd Ried w3t & -
Y 93 HRAEE A Algg Al 1890 & GAF H &5 FREH T U a1C, 51 & &
Yerd Aeash &1 faEdR g3 3R 3edor & el foder ser| Higel #1 3cures alfr &
IRAT 3R W 3R ST T Scure =TT g7 arr| 1900 & &2k ofh, $o &l H HREA
& AfADT 3R FRERT S AT AT SaT AT| 3fTer 3¢9 3eeafadr S fosir
qufed Al #GAdH A 3R FA & AT 6 ARTd & & o TaHr a3
thareRAr &l fAIRTEAT Xl 2| oifdhet hardl SEdaex [ATAT FI Alsa & =gl Uk Foh. [RAeq
shrsdl 3R BT FRRMETN &, FF Gag wefi-weft 15 g¢ F1 giar om, Jafed FREEET J
10 I1 12 € T g ATl FERT A AR AAE deh A Herd-Hed | 4fAF v
fasnfara arAiais geg o

i & R T W R 1

i 3T T A P X ARG B Jorem F2 1

ii. ®F# FRGEA & IR FH ford? 2
24. While determining the poverty line in India, a minimum level of food requirement,
clothing, footwear, fuel and light, educational and medical requirement, etc., are
determined for subsistence. These physical quantities are multiplied by their prices in
rupees. The present formula for food requirement while estimating the poverty line is based
on the desired calorie requirement. Food items, such as cereals, pulses, vegetable, milk, oil,
sugar, etc., together provide these needed calories. The calorie needs vary depending on

age, sex and the type of work that a person does. The accepted average calorie requirement
in India is 2400 calories per person per day in rural areas and 2100 calories per person per



day in urban areas. Since people living in rural areas engage themselves in more physical
work, calorie requirements in rural areas are considered to be higher than in urban areas.
The monetary expenditure per capita needed for buying these calorie requirements in terms
of food grains, etc., is revised periodically taking into consideration the rise in prices.
i. How is poverty line determine in India? 2
ii. How can poverty line determine in urban area? 1

iii.  Rural area needs more calories than urban area why? 1

IRT H I IWT &7 [FURT aa GHT g [Faig & AU $iaT 1 3magendr, s,
I, 3uet 3 Aereh, Afdrer 3R Rfercar smaeasrar anfe &1 #geraa Tax fAuiRa frar
ST 81 31 $iifcier AT @l T9F H IRt HACT @ IJOM AT ST §1 IR @1 AT
HTeholel I TAY ISl T TRl Hl TAHATT Bl TS Hollkl TGl TN
MR &1 WeF Tary, S 3eToT, aTel, Heolt, g, del, el 3nfe fAerert T 3mavas SHelt
Yeled I &l el I HTaeTehdr 34, felaT IR AfFd ganrT fhT S arel FHIA & JhR
% 3R U 3HIT-37e9T Bl &1 R & Tdlishd AT Holldl Tavehal JTHA0T &3+t #
ufar safda 9fad T 2400 e 3R el a1 & ufa safea gfa & 2100 Farr g
ik AT & H G ared oller Ge H 3fUE qIRE HH FH TET Wd g, 3EfT
AT &1 A HART T AT AT & T JoreT H TR AR S §| TiedTe
3G & TG H T HelkT ATEISABT Hl Wi & v gfa safFa #Alfgs sag &
@ﬂﬁﬁqﬁaﬁ?«wﬁwd\?Haq-uaqwﬁ?ﬁ@ﬁﬁmm‘él

i HRA A I @ Fr AuRer FH AT Siar g2 2

ii. el e A IS @ & FuRer A R Srar g2 1

iii. QI &Y T YT AT &Y & AN I 3TAF FART W IMERTSAT FAT BT

&2 1

25. What were the main causes the rise of Hitler in Germany? 5

SHAT A RToR & 3¢ & FIT HROT & 2

26. Over population is burden for our country India .How? 5

3OS STAEEIT 39T S HRA & fov AR g1 HF 2

27. Write the physical feature of India and explain about peninsular plateau ? 5
AR & Hifds e A fow qur IRIgdd 9or &1 auid {7

28. i. On the outline map of the world show (i) Germany (ii) Russia. 2

faeg & AWRT W FTA JUT FF A g2ATd|

ii. On the outline map of India show the following — 3

HRA & AT W AeAifeha o geia
(i)  Malabar coast HATeldX dc
(i)  Aravali Mountain 3RTdell 9dd
(iii)  Kaveri River. &ra3r aler




